


























































Corred Answer: Only II 
�II 

Candidate Answer: Both I and II 
I <'l'lTII1WIT 

QID : 289 - For what value of M, 34M is divisible by 7? 

M � fiRr 1TT"f � � 34M, 7 u fiNr-;q- t? 

Options: 
1) 3 
2) 2 
3) 1 
4)4 

Corred Answer: 3 
Candidate Answer: 3 

QID: 290 -

. 3x7-t4+2 What IS the va.lue of 8 + 2 x 3 -t 5?

3x7+4!+2 cliT J:IJe'f � t?
8+2x3+5 

Options: 
1) 23/12 
2) 27/13
3) 23/17
4) 25/7
Corred Answer: 23/17
Candidate Answer: 23/17

QID : 291 - A is 7 times of B. B is how much percent less than J 

A, B !1:1' 7 'l""'tl B, A irm•r,mrRr.ira'f.'1't? 

Options: 
1) 85.71
2) 75.12 
3) 87.29
4) 82.52 
Corred Answer: 85. 71 
Candidate Answer: 75.12 

QID: 292-The ratio of three numbers is 4: 3: 7 a o; - ,um of their square is 666. What is the value of the largest of the three numbers? 

� m!m'"TT 'f.T � 4 : 3 : 7 t <'l'lT �-.p,l 'l'I -<l'T 6bo ti � m!m'aTT if U � !#T 'f.T 1TT"f 'f'IT t? 

Options: 
1) 21 
2) 28 
3) 14
4) 17
Corred Answer: 21 
Candidate Answer: 21 

QID : 293 - Average age of a group of 16 boys is 21 years. Two boys with ages 15 years and 18 years left the group. One boy with age 24 years joined the group. 
What is the new average age (in years) of the group? 

16 � � � TI"'l!, ,ft ai\mr iil"l'J 21 'f'f ti��� """'J 15 'f'f <MT 18 'f'f t TI"'l!, � Sffl' Tf'tl � - fam,ft """'J 24 'f'f t TI"'l!, if �nfrm � -;;mrr ti �,ft� 
aitmr """'I ("'f"i'f if) 'f'IT � 

Options: 
1) 21.2 
2) 21.8
3) 21.4
4) 21.6
Corred Answer: 21. 8 
Candidate Answer: 21.6 

QID : 294 - A sum of money triples itself in 5 years at compound interest. In how many years will it become 81 times of itself? 


